

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Los Nietos Safe Routes to School - Phase 2

Project ID: RDC0016316

Bids Opened: 12/6/2022 Project Manager: Agnes Nguyen 626-458-2191

Engineer's E						(1) Acces	s Pacific, Inc.						
(1) Pre	liminary Bid Amount			\$	1,684,238.15								
(2) Uni	t Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	3	\$500.00	MTH	\$1,500.00	\$500.00	\$1,500.00						
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00						
4	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00						_
5	IMPLEMENTATION OF THE SWPPP	1	\$2,500.00	LS	\$2,500.00	\$20,815.80	\$20,815.80						_
6	OFFICE FACILITIES	4	\$5,000.00	MTH	\$20,000.00	\$7,434.22	\$29,736.88						
7	MOBILIZATION	1	\$150,000.00	LS	\$150,000.00	\$81,776.37	\$81,776.37						
8	CLEARING AND GRUBBING	1	\$37,500.00	LS	\$37,500.00	\$20,000.00	\$20,000.00						
9	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	8	\$1,250.00	EA	\$10,000.00	\$892.11	\$7,136.88						
10	TREE REMOVAL (13"-24" DIAMETER)	1	\$3,500.00	EA	\$3,500.00	\$3,717.11	\$3,717.11						
11	CROWN REDUCTION, TREE (1" - 12" DIAMETER)	1	\$750.00	EA	\$750.00	\$669.08	\$669.08						
12	CROWN REDUCTION, TREE (13" - 24" DIAMETER)	2	\$1,000.00	EA	\$2,000.00	\$1,263.82	\$2,527.64						

Project ID: RDC0016316

Rids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Agnes Nguyen 626-458-2191

Engine					eer's Estimate	(1) Acces	s Pacific, Inc.						
(1) Preliminary Bid Amount						\$	1,684,238.15						
(2) Uni	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
13	CROWN REDUCTION, TREE (25" + DIAMETER)	5	\$1,250.00	EA	\$6,250.00	\$1,784.21	\$8,921.05						
14	RELOCATE EXISTING CHAIN LINK FENCE	20	\$125.00	LF	\$2,500.00	\$148.68	\$2,973.60						
15	REMOVE EXISTING CHAIN LINK FENCE (INCL CONC CURB AND FOOTING)	29	\$40.00	LF	\$1,160.00	\$148.68	\$4,311.72						
16	CONCRETE REMOVAL (NON- REINFORCED)	282	\$375.00	CY	\$105,750.00	\$371.71	\$104,822.22						
17	REMOVE AND RECONSTRUCT EXISTING BOLLARD	4	\$750.00	EA	\$3,000.00	\$1,263.82	\$5,055.28						
18	UNCLASSIFIED EXCAVATION	1840	\$125.00	CY	\$230,000.00	\$133.82	\$246,228.80						
19	CRUSHED MISCELLANEOUS BASE	1247	\$175.00	CY	\$218,225.00	\$66.91	\$83,436.77						
20	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	4	\$400.00	CY	\$1,600.00	\$371.71	\$1,486.84						
21	AC PAVEMENT	811	\$250.00	TON	\$202,750.00	\$178.42	\$144,698.62						
22	AC PAVEMENT(PATCH BACK)	9	\$200.00	TON	\$1,800.00	\$371.71	\$3,345.39						
23	AC PAVEMENT(DRIVEWAYS)	14	\$250.00	TON	\$3,500.00	\$297.37	\$4,163.18						
24	RECONSTRUCT MANHOLE	5	\$3,750.00	EA	\$18,750.00	\$5,203.95	\$26,019.75						
25	PCC CURB, TYPE A1-VAR	132	\$75.00	LF	\$9,900.00	\$59.47	\$7,850.04						
26	PCC CURB & GUTTER, TYPE A2-6	21	\$75.00	LF	\$1,575.00	\$81.78	\$1,717.38						
27	PCC CURB & GUTTER, TYPE A2-8	112	\$75.00	LF	\$8,400.00	\$81.78	\$9,159.36						
28	PCC CURB & GUTTER, TYPE A2-VAR	401	\$75.00	LF	\$30,075.00	\$81.78	\$32,793.78						_
29	PCC CURB & GUTTER, TYPE A2-VAR, W=1'	535	\$75.00	LF	\$40,125.00	\$81.78	\$43,752.30						
30	PCC WALK, 4" THICK	10545	\$20.00	SF	\$210,900.00	\$13.38	\$141,092.10						
31	PCC DRIVEWAYS, 4" THICK	159	\$15.00	SF	\$2,385.00	\$17.84	\$2,836.56						
32	PCC CURB RAMPS	73	\$1,875.00	CY	\$136,875.00	\$1,338.16	\$97,685.68						
33	PCC DRIVEWAYS, 6" THICK	504	\$25.00	SF	\$12,600.00	\$17.84	\$8,991.36						
34	DETECTABLE WARNING SURFACE	465	\$70.00	SF	\$32,550.00	\$74.34	\$34,568.10						

Project ID: RDC0016316

Rids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Agnes Nguyen 626-458-2191

	Engineer's Estimate				(1) Acces	s Pacific, Inc.							
(1) Preliminary Bid Amount					\$	1,684,238.15							
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
35	CROSS GUTTER	101	\$650.00	CY	\$65,650.00	\$1,115.13	\$112,628.13						
36	CHAIN LINK FENCE, 5' HIGH	27	\$150.00	LF	\$4,050.00	\$111.51	\$3,010.77						
37	1" CONDUIT (SCH 80 PVC)	115	\$50.00	LF	\$5,750.00	\$104.08	\$11,969.20						
38	1-1/2" CONDUIT (SCH 80 PVC)	10	\$40.00	LF	\$400.00	\$111.51	\$1,115.10						
39	3" CONDUIT (SCH 80 PVC)	50	\$38.00	LF	\$1,900.00	\$126.38	\$6,319.00						
40	2-PAIR DETECTOR LEAD-IN	80	\$2.00	LF	\$160.00	\$14.87	\$1,189.60						_
	CABLE												
41	3-CONDUCTOR SIGNAL CABLE (EXCLUDING CONDUIT)	1559	\$2.20	LF	\$3,429.80	\$10.41	\$16,229.19						
42	12-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	75	\$7.00	LF	\$525.00	\$11.89	\$891.75						
43	WIRE #10	52	\$2.00	LF	\$104.00	\$4.46	\$231.92						
44	NO. 6 PULL BOX INCL PCC	6	\$1,250.00	EA	\$7,500.00	\$1,338.16	\$8,028.96						_
	COVER	Ū	, ,		, , , , , , , , , , , , , , , , , , , ,	, ,	, , , , , , , , ,						
45	COMPOSITE TYPE 3 PULL BOX	10	\$1,030.00	EA	\$10,300.00	\$1,115.13	\$11,151.30						
	INCL COVER												
46	INDUCTIVE LOOP DETECTOR	2131	\$10.20	LF	\$21,736.20	\$20.82	\$44,367.42						
	AND LEADS SAW CUT												
47	REMOVE PULL BOX	10	\$500.00	EA	\$5,000.00	\$743.42	\$7,434.20						
48	REMOVE PEDESTRIAN PUSH	1	\$250.00	EA	\$250.00	\$446.05	\$446.05						
	BUTTON POST												
49	REMOVE TYPE 15 STANDARD	1	\$1,000.00	EA	\$1,000.00	\$743.42	\$743.42						
	(COMPLETE) (EXCL. FOUND.)		#450.00		20.450.00	4000.00	#5.400.00						
50	REMOVE VEHICLE HEAD	23	\$150.00	EA	\$3,450.00	\$223.03	\$5,129.69						
<i>E</i> 4	(COMPLETE) REMOVE PEDESTRIAN PUSH	16	\$45.00	EA	\$720.00	\$44.61	\$713.76						
51	BUTTON	10	φ45.00	EA	\$720.00	φ 44 .01	φ/13./0						
52	REMOVE PEDESTRIAN PUSH	1	\$300.00	EA	\$300.00	\$892.11	\$892.11						_
	BUTTON POST FOUNDATION												
53	REMOVE TYPE 15	1	\$1,200.00	EA	\$1,200.00	\$1,784.21	\$1,784.21						_
	FOUNDATION												
54	PEDESTRIAN PUSH BUTTON	9	\$850.00	EA	\$7,650.00	\$1,085.40	\$9,768.60						
	POST		_										
55	TYPE 15 STANDARD	1	\$5,700.00	EA	\$5,700.00	\$6,968.83	\$6,968.83						

Project ID: RDC0016316

Rids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Agnes Nguyen 626-458-2191

				Engine	er's Estimate	(1) Access	s Pacific, Inc.						
(1) Preliminary Bid Amount						\$	1,684,238.15						
(2) Unit Price Detail													
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
56	PEDESTRIAN PUSH BUTTON	10	\$900.00	EA	\$9,000.00	\$1,189.47	\$11,894.70				ĺ		
	POST FOUNDATION												
57	TYPE 15 STANDARD	1	\$2,000.00	EA	\$2,000.00	\$4,460.53	\$4,460.53						
	FOUNDATION												
58	10' LUMINAIRE MAST ARM	1	\$1,800.00	EA	\$1,800.00	\$2,973.69	\$2,973.69						
59	150 W HPS LUMINAIRE	1	\$645.00	EA	\$645.00	\$1,174.61	\$1,174.61						
60	PEDESTRIAN PUSH BUTTON	16	\$250.00	EA	\$4,000.00	\$447.54	\$7,160.64						
61	PEDESTRIAN PUSH BUTTON PLATE	17	\$100.00	EA	\$1,700.00	\$96.64	\$1,642.88						
62	APS PPB WITH SPECIAL VOICE MESSAGE	1	\$800.00	EA	\$800.00	\$11,300.01	\$11,300.01						
63	3-12" LED VEHICLE HEAD (COMPLETE)	23	\$1,200.00	EA	\$27,600.00	\$1,639.99	\$37,719.77						
64	LED PEDESTRIAN HEAD (COMPLETE)	1	\$1,000.00	EA	\$1,000.00	\$1,761.91	\$1,761.91						
65	REWIRE CONTROLLER	1	\$2,000.00	EA	\$2,000.00	\$7,136.85	\$7,136.85						
00	CABINET	•	, ,	L/ \	, ,	, ,	, ,						
66	DETAIL 22 (THERMOPLASTIC)	50	\$3.00	LF	\$150.00	\$3.72	\$186.00						
67	DETAIL 29 (THERMOPLASTIC)	125	\$5.00	LF	\$625.00	\$7.43	\$928.75						-
68	DETAIL 38 (THERMOPLASTIC)	12	\$2.00	LF	\$24.00	\$2.97	\$35.64						
69	DETAIL 39A (THERMOPLASTIC)	240	\$1.00	LF	\$240.00	\$2.23	\$535.20						
70	4" STRIPING (THERMOPLASTIC)	92	\$1.50	LF	\$138.00	\$1.86	\$171.12						
71	12" STRIPING	595	\$3.00	LF	\$1,785.00	\$5.20	\$3,094.00						-
	(THERMOPLASTIC)												
72	24" STRIPING (THERMOPLASTIC)	3510	\$9.00	LF	\$31,590.00	\$10.41	\$36,539.10						
73	PAVEMENT MARKINGS (THERMOPLASTIC)	549	\$5.00	SF	\$2,745.00	\$8.55	\$4,693.95						
74	REMOVE STRIPING	733	\$2.00	LF	\$1,466.00	\$2.75	\$2,015.75						
75	REMOVE PAVEMENT	3495	\$3.00	SF	\$10,485.00	\$3.12	\$10,904.40						
	MARKINGS (THERMOPLASTIC)			-									
76	CURB MARKINGS (ONE-COAT	1219	\$3.00	LF	\$3,657.00	\$2.97	\$3,620.43						-
	PAINT)												

Project ID: RDC0016316

Bids Opened: 12/6/2022

Bids Opened: 12/6/2022 Project Manager: Agnes Nguyen 626-458-2191

				Engin	eer's Estimate	(1) Access Pacific, Inc.							
(1) Preliminary Bid Amount						;	\$1,684,238.15						
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
77	INSTALL FIRE HYDRANT	10	\$40.00	EA	\$400.00	\$14.87	\$148.70						
	LOCATION RPM												
78	SIGN PANEL	37	\$200.00	EA	\$7,400.00	\$223.03	\$8,252.11						
79	SIGN POST (ROADSIDE SIGN)	21	\$300.00	EA	\$6,300.00	\$297.37	\$6,244.77						
80	RELOCATE SIGN	14	\$150.00	EA	\$2,100.00	\$111.51	\$1,561.14						
81	RELOCATE SIGN POST	7	\$200.00	EA	\$1,400.00	\$185.86	\$1,301.02						
82	REMOVE SIGN	13	\$100.00	EA	\$1,300.00	\$74.34	\$966.42						
83	REMOVE SIGN POST	6	\$150.00	EA	\$900.00	\$111.51	\$669.06						
84	TRAFFIC CONTROL	1	\$70,000.00	LS	\$70,000.00	\$53,526.35	\$53,526.35						
85	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$5,203.95	\$10,407.90						
86	CHANGEABLE MESSAGE SIGN	2	\$5,000.00	EA	\$10,000.00	\$5,203.95	\$10,407.90						
Unit P	rice Total			;	\$1,874,445.00	:	\$1,684,238.15						
(3) LSBE/DVBE/SE Preference Amount						\$0.00							
(4) LSBE/DVBE/SE Adjusted Amount							\$1,684,238.15						
Comments					APPARENT	LOW BIDDER							